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L x(x+7) =30

Q1. L.y = (%)E

(a)?flﬁ'x<y
(b)afzx>y
(afex=y
(d)afex=y
(e)afEx<y
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.3x2 —16x+21=0
Q2. Il. 6y2 + 25y +21 =0

(a)?flﬁ'x<y
(b)afT x>y
()afex=y
(d)afex=y
(e) T x<y
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2% (% 2)=128
1 1 4

03. 1l. Eyg = ﬂy‘l
(@) afkx<y
(b)afzx>y
(T x=y
(d)afex=y
(e) T x<y
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l. 20x2 — 108x+ 144 =10

Il. 25y2 — 90y + 72 =0
Q4.

(@ afEx<y
(b)7fax>y
(o) afgx=y
(d)yafzxzy
(e)afEx<y
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l. 2x? +18x4+36=0
Q5 l.y2 —3y—18=10

(@) afTx<y
(b)afEx>y
() afxx=y
(d)yafzxzy
(e)afEx<y
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. 2x* —15x + 27 =0
Q6. I 2y* =13y +20=0
(a) TR x>y
(b) T x <y
() afEx=>y
(d) T x 3T y & 1 FlE Hael T Aol AT AT THRATE AIX =y
(e)afEx<y
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.9x* —21x+10=0
Q7. Il¥*—8y+15=0
() AR x>y
(b)aRx<y
() afxx=2y
(d) T x 3T y & 1= Fle Haer T Aol RAT AT THRATE AIX =y
(e) T x<y
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. 2x* —13x+15=10
Q8.ll. 2y* — 11y +12=10
(a) TR x>y
(b)afzx<y
(o) afEx=>y
(d) T x 3T y & 1 Fle Haer TITOT Aol AT AT THRATE AIX =y
(e) T x<y
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L2x2+7x+6=0

Q0. 1.2y + 17y +30=0

(a) x>y

(b) T x <y

() afxx=2y

(d) TR x 3T y & = IS Ty TITAT T2l HAT AT TFRAT G ATX =y
(e) T x<y
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Lx2—2x —5x+2¢5=0
Q10. I.y2 =3y -2y +V6 =0
(a) A x>y
(b) T x <y
(o) afEx=>y
(d) 7t x 3fT y & 1= Fre Hae TTiog 981 ST ST awRar g arx =y
(e)afEx<y
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Directions (11-15): FHf™fEd wai & ws@m™=T =g (7) F S99 T JAGATHT ATT AT
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Q11.{(4444+333+22+1)-(2x3 x4 x5)}x2.532="2
(a) 11700
(b) 12250




(c) 10800

(d) 12100

(e) 10500
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Q12.40.05% of 349.9+59.89% of 249.98=?
(a) 280

(b) 290

(c) 270

(d) 275

(e) 298
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Q13.17% of 760+57% of 78.99+77.77=?
(a) 238

(b) 242

(c) 245

(d) 251

(e) 256
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os 35.99v7+ 32.003247 = w”:’:ga X (2)
(a) 81

(b) 72

(c) 169

(d) 121

(e) 144
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Q15 (3:02)? + (9.98)% + (8.13) + (4.04)" =2

(a) 190

(b) 230

(0) 150

(d) 210

(e) 160
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S1. Ans.(a)
Sol.
L (x+10)(x—3)=0
x=-10,3
10

Hence, x <y

S2. Ans.(b)

Sol.

l.(3x—7}x—3) =0

X = E, 3

h{ey+7)v+3)=0
7

Sy = —3_. _E

Hence, x = vy

S3. Ans.(b)

Sol.
| x% =28

x
~x=4
1

1
===
y =]

Ly =122
Hence, x = y

S4. Ans.(d)
Sol.

lL(5x—12)(x—3)=0

I=?.3

Il. (5v—6)(5y—12)=0
6 12

Y=57%

Hence, x = vy

S5. Ans.(e)
Sol.

Solutions



L(x+6){x+3)=0
x=-—6,—3
Liyv+3){yv—6)=0
y==6,—3

Hence, x = y

S6. Ans.(d)
Sol.
l.2x2 —15x 4+ 27 =0
= 2x? —6x—9x+27=0
=2(x—3)(2x—-9)=0
9
. e R 3’5
I.2y* —13y+20=0
=2y’ -8y —5y+20=0
=(-4@y-5)=0
5
::i};rzq.’:

Mo relation

S7. Ans.(b)

Sol.

.L9x% —21x+10=0

= 9x2 —6x —15x+ 10=10
= 3x(3x—2)—-5(3x—-2)=0

= x =

Iy —8y+15=0
=y?—5y—3y+15=0
=(y-3)y-5=0
::'};r=3’5

Y= x

Ll | ba
w|en

S8. Ans.(d)
Sol.
.2x2 —13x4+15=0
=2x2—10x—3x+15=0
=(x—5)(2x—3)=0

3
:x=5’5
I.2y* —11y+12=0
=2y* —8y—3y+12=0
= (—4)(2y—-3)=0

3
::i};rzq.l:

Mo relation



S9. Ans.(a)
Sol.
L2x2+7x+6=0
=2x2 4+ 4x 1+ 3x46=0
=>(x+2)(2x+3)=0

3

=>x=-2—=

I.2y*+17y+30=0
=2y +12y+5y+30=0
= (y+6)(2y+5)=0

=y = —ﬁ’ —g
NEY

S10. Ans.(a)
Sol.

Lx?—2x—5x+2¢/5=0
==-(x—2](-_x—w.."§)={}
=='x=2,\."'§

ILy? =3y -2y +V6=0
= (y—V3)(y —v2) =

=g A V3,42
X>y

S11. Ans.(a)
Sol.

~ [4800 — (120)] X 2.5
= 11700

S12. Ans.(b)

Sol.
?7~4x35+6x25
=~ 290

S13. Ans.(d)
Sol.
=129+ 45+ 77 = 251

S14. Ans.(d)
Sol.



S15. Ans.(a)

Sol.
~9+100 + 64 + 16 ~ 190



